EARAROBREBRT —5 XN—ZXBISH—F

2022488248 (K) 120EH1H

W C2= SR3F/L BN R
[AXE%) 1 &:600,000 ~ 23#&:240,000 9  337%&:150,000 M  43#&:90,000H . 5 3&:60,000
B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
= — < KUEE : -1-1- - XIBEE (M)
1 6 STHLY i 5 2 1.(3_3).0 1-1-1-1 | 40.5 3 (4+626) gEEB%—
RiALVITSvoElL B:FIN e Te
~, 0 2R : -4-4- - RAZ=E (EH)
. 3| Dvs—F7 B4 e 1.(343).7 4-4-4-2 | 40.5 4 (4;1263 el
Ri¥IT T« B:DOVF—I—=UU e ire]
~, o » {E2ARTHRE : -2-2- - ArifE (EE
s 4| Pvy—ERTY R N s - R I I
RIZATVFLY B:0V9—RF— KBS
=~ TIMGEL : -3-3- - RENE (FEk)
algls Sy )A4tBEX 4t 6 el 1.(311;.2 3-3-3-4 | 41.2 6 18;3 Iﬁlﬂ%ﬁ%f
Rib—trya—sv B:Xx¥y039=39 LAOP4ST7—1L
=gw T~ 4 9 | SMEEE— 1:34.6 7-7-6-6 | 41.2| - 5 498 | KEIER (ki)
5101|729 vr—0Ov 5.0 XY W) | AREET
R:F4—TAHA4 B:RAXR F—L— - I\ - T7—LBRR
-3 P s 3 | SNEE 1:34.7 5-5-5-5 | 41.4| — 2 535 | LUCIES=E (F8k5)
617|7|=/TFRT .0 ) ) |EEES
RiR)—Y NSy RO-X ML R
y = FEE#X : -8-8- - FFRR (BE
715]5 | FTU—xH15 3| B 1.(396).1 8-8-8-8 | 42.3 8 (4_341) &E#'I%E}E (Em®)
RFTU—T5YY BFIU—ARs—H EHI7—L
<, KLIBEAXEB : -5-7- - RET (FkR)
s | LAvR—x17 %5 | AU el || BB T8 e
RS/ vIT4 B:FA—5 #HEI77—LA
@ 11— —BBIEfI
10—7+— 6,4,8,3,(2,7),1,5
21—F— 6,4,8,3,(2,7),1,5
Sal=zr= 6.4,8,3,7.1,2,5
40—7+— 6,3,4,8,7,1,2,5
o ILRE
B B 6 4901 | [ D1 R 3-6 360M4 B E 3-6 1,270 3EE 3-4-6 9204
7B B 6 150/ 4-6 230 =51 6-3 2,300H 3EH 6-3-4 7,730
3 170H 3-4 3504
4 120

ABIC OV TRUTEREERRODDZE. THRIIZEL.




